ot

T B AR T EIFE T ERk284E07 A 21 H 43
mRmR B , B

i B NFR M7 EIFE G e 8

REE EHF 5 @
HZERTHMEHENIGEAE I IFFE 2HOBRBRIZLY, TROEBVHRELE T,

e

R gE |  BRSEMER | EH
== [§ whd Lk | PER (kg) &% (M) =l i el PE Hb (HAL)
39630 EmAA Y 5 1, 166 65 65 65 BN 183
34330 | E7p9 11 1,652 36 36 24| BN 547
34100 #H)IK 18 4, 347 54 43 43| BN 904
34200 K 29 8, 770 302 302 302 | BN 29kg
34500 E—= 22 1,901 86 86 86 | BN 22kg
34570 XU 2 907 65 65 65 | BN 1418
Y3033 ZZANAL 10 1, 879 162 86 86 | B 20,8 7
Y3033  ZHAL 195 34, 430 324 216 108 | B ™A 195kg
36200 fHénE 60 11, 988 216 216 162 | BHN 60kg
36600 7-EE 60 12, 960 216 216 216 | BN 60kg
34930 LA 85 12, 605 65 65 22 | BN 2834
35940 AEEIEA 69 52, 283 810 756 702 | BN 69kg
34800 < B 23 22, 453 97 97 97 | BN 231 v b
36340 kLR AHE 44 16, 281 432 432 162 | BH 44kg
36700 (2 ANZX 3 1,231 410 410 410 | BN 3kg
49470 RNy g Ta—Y 68 47,763 108 70 54 BN 676H
71011 | A7 L—35 33, 448 43 38 24| B 1, 0304
21032 R+ (GR) 1,188 65 65 54 &M 2042
71150  LiE 1,555 86 86 13BN 183
71179 % 697 65 65 59 | BN 113
71297 v aroit 3,024 54 49 49 | B 60A
71298 R X% 486 54 54 54| BN 9
Y5004 & 21 6, 966 378 324 324 | BN 21kg
53101 1E L KAR 1 540 1,080 1,080 1,080 BN lkg
30100 72WVWZ A 3L 98 16, 254 270 238 173 | R % T0A4
30300 A% L 60 10, 368 1,728 1,728 1,728 | F#& 64— A
31100 A3 150 9, 288 1,296 648 648 | K& 10—
33500 45X 1 594 59 59 59 | & 104
33810 HREX 4 1,188 59 59 59 |EIRE 2048
37440 b 2 896 896 896 896 |EIR & 17r—2
37440 b 2 475 24 24 24 | BEIRE 207K > b
Y5005 4 7kEN 5 1,534 1,534 1,534 1,534 | K4y 1r—=A
31700 F 250 23, 436 1,080 864 864 | FEA 254 — A
31800 HEH>NAE 4 3, 456 173 173 173 EEIRE 204% |
31950 H#RX 9 3, 240 1, 080 1,080 1,080 | H[H 37—
31900 Jax 10 3, 262 216 216 108 | B 193 (500g)
31930 ¥ 3 3, 456 130 108 108 | %3 [ 3048
32800 1TH 10 2,570 59 22 12 | =I5 1003
34300 729 2L 25 9,828 1,998 1,944 1,944 |28 54 — R
34400 b k 44 20, 196 1, 944 1,836 1,620 |AEA 117 —=
34460 I =L F L 5 4,320 173 173 - 173 ”.é?mﬁ_ 25/3y 7
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4 HE BRE AR . &#H
a— k| s Lk | BER (kg) &% (M) =l i Sl PE i (HAD)
34100 %ﬁ)m 2L 25 8, 640 1,728 1,728 1,728 BERE 57— A
34100 #A/I L 5 1,944 1,944 1,944 1,944 |EE 17 —2
34520 FE—< L 4 1,728 864 864 864 | IR 24— A
34571 ST U B (GR) 1 605 86 86 86 | 4E[E 1@

34572 TV () 1 605 86 86 86 | #E[E 71

36200 [E&hE 3L 100 18, 468 1,944 1,836 1,836 F Ik 104 — %
37200 L x 5 2L 12 5, 508 1,836 1,836 1,836 H1[HE 3 —=
33400 L& 12 3, 629 151 151 151 £#F 24/

33410 Y=—LF R 2L 5 1, 166 76 76 22 | % 248

33300 Ymy=ay— 5 2,187 146 146 146 B 5 15{H

38100 £ L\ /=id 6 4,590 86 81 65 | I 605> |
31310 A3 4 2, 603 132 130 130 | t& ] 204%

31500 /A 12 6, 048 108 108 86 | IS 604

32500 A3 1 864 86 86 86 | 1@ 1038 o
37560 BT 1 4, 860 486 486 486 | K%y 1075y 7
36400 3 2L 10 5,184 5,184 5,184 5,184 | H % 17 —2
Y4008 /T2 R I A 9 8, 381 292 292 216 |8 2978y 7
39350  ET M 10 3, 348 378 324 324 | K4y 1047 — 2
45230 EIER Y 5 2 1, 890 378 378 378 REA 55y |
45231 HE7p UEE 0| 324 324 324 324 | & [if] IR
45220 FS U =T 1 648 162 162 162 | &[] A4
45220 T U =T 2L 2 864 864 864 864 | # il 17—
Y4040 T —Y — 0 648 162 162 162 7 AY A 4wy
44000 b 15 4,428 1,620 1,404 1,404 | (L%d 37—
48000 F V2> 132 17, 280 918 648 648 |HE 221&

49100 ~FF 120 17, 496 2,376 1,296 1,296 ;‘/ Rx 10—
45800 W\WH UKL 2 L 1 432 108 108 108 |REA 43 7

&at 1,904 519, 249
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